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Question Id : 68634010123 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Question Number : 1 Question Id : 68634010124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634040004. 4
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Question Number : 2 Question Id : 68634010125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 68634010126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040009. 1
68634040010. 2
68634040011. 3
68634040012. 4

Question Number : 4 Question Id : 68634010127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 68634010128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634040019. 3
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Question Id : 68634010123 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634010124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634040003. 3
68634040004. 4

Question Number : 2 Question Id : 68634010125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040005. 1
68634040006. 2
68634040007. 3
68634040008. 4

Question Number : 3 Question Id : 68634010126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040009. 1
68634040010. 2
68634040011. 3
68634040012. 4

Question Number : 4 Question Id : 68634010127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040013. 1
68634040014. 2
68634040015. 3
68634040016. 4

Question Number : 5 Question Id : 68634010128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634040017. 1
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68634040019. 3
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Sub-Section Number : 2
Sub-Section Id : 686340330
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634010129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040021. 1
68634040022. 2
68634040023. 3
68634040024. 4

Question Number : 6 Question Id : 68634010129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68634040022. 2
68634040023. 3
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Question Number : 7 Question Id : 68634010130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040025. 1
68634040026. 2
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Question Number : 7 Question Id : 68634010130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 68634010131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 8 Question Id : 68634010131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634040029. 1

68634040030. 2
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Question Number : 9 Question Id : 68634010132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040033. 1
68634040034. 2
68634040035. 3
68634040036. 4

Question Number : 9 Question Id : 68634010132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
agsiie T &1 9e T &
1. SHIEEBRT
 Hfd8R
ST

[

L]

4. HIgR
Options :
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68634040034. 2
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Question Number : 10 Question Id : 68634010133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634040037. 1
68634040038. 2
68634040039. 3
68634040040. 4

Question Number : 10 Question Id : 68634010133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040037. 1
68634040038. 2
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Question Number : 11 Question Id : 68634010134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3fd 9 P AR WURU <416 W = DT IT 3G AR BT GI-fdeTs U 7% aide aul A9 HET 8%
aifties U= (Aa feban | ofiF au & 39 21320 <A1 & U T Sfuid (U] 39 gRI o iy (z §) 314
DIyl

1. 4000

| )

. 5000
3. 6000
4. 6400

Options :

68634040041. 1
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Question Number : 11 Question Id : 68634010134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 68634010135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040045. 1
68634040046. 2
68634040047. 3
68634040048. 4

Question Number : 12 Question Id : 68634010135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634010136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 68634010136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634010137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 68634010137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634010138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 68634010138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 68634010139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 16 Question Id : 68634010139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 68634010140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634040068. 4

Question Number : 17 Question Id : 68634010140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634040065. 1
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68634040068. 4

Question Number : 18 Question Id : 68634010141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634040069. 1
68634040070. 2
68634040071. 3
68634040072. 4

Question Number : 18 Question Id : 68634010141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634040069. 1
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Question Number : 19 Question Id : 68634010142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 68634010142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634010143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 68634010143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 9fE 1 SR 1 T sratiea @

Options :

68634040077. 1
68634040078. 2
68634040079. 3
68634040080. 4




Question Number : 21 Question Id : 68634010144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey
veitsnickicee G R TGIEED)

A TG I [[&i¥cEe @H

B. FreTs 11 Rig=i®T

C. AR 111 [315ig 3l @

D. [dadl IV. [<Tehe 5

fAafaRad faeedi O I Ugt SR &1 99 SIfor

1. A-IV. B-1. C-II, D-III
2. A-IL B-1. C-IV. D-II
3. A-III, B-1, C-II, DIV
4. A-1, B-I1I, C-II. D-IV

Options :

68634040081. 1
68634040082. 2
68634040083. 3
68634040084. 4

Question Number : 21 Question Id : 68634010144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

= 1 (S g g9 1 (@1e®)
A [g 1. |[[Rf e B e
B. [preas 11. Rfa=idy

C. [Rar 111 [35%Te 3l @
D. [d9dl IV. [T1ieh g4

frafafad foweal & O ugt SR 1 9ga oifo
1. A-IV, B-I, C-II. D-III
2. A-IIL, B-L, C-IV, D-II
3. A-III, B-I, C-II, DIV
4. A-I, B-III, C-II, D-IV
Options :

68634040081. 1
68634040082. 2



68634040083. 3
68634040084. 4

Question Number : 22 Question Id : 68634010145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T g pyafRumu E:

BYUA 1 ERIP B B & Sid I aTel BEel Bl o/ Sals & A H § Sl § SR Rday
SfeER & Hig H PIeT Sl g

HYA 11 715, Hex, 91, fod e BHa & 3aE Gl
IWRIdd HYHI D HalP U, Hid (4T T fadbedi § T Ig! 30 B 904 Bl

1. BYUF T AR 11 S Tl &
2. BYT1 IR 11 S TTed §
3. DY TG 6. Al HYF 117 ©
4. BT 17T ©, AT S 1 TET §

Options :

68634040085. 1
68634040086. 2
68634040087. 3
68634040088. 4

Question Number : 22 Question Id : 68634010145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. BYUF T AR 11 S Tl &
2. BYA T IR G Ted &
3. DY TG 6. Al HYF 117 ©
4. DY 1T107d 5. A= DY 1T Hel §

Options :

68634040085. 1
68634040086. 2
68634040087. 3
68634040088. 4

Question Number : 23 Question Id : 68634010146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CI KA AICRTALE) [F

HYT I: TURT T8 X & ford IR YReig Rord 6 (sRatems) wfiaufa & a5 do1 &1 ag- smafie ga1
(39T SUYR el B

HYU 11: Ra¥ YURE 94d 100 99 (3MYUTR) fdg WX 31e1d 811 § & YURE 9 1% $H 8idl 8|
IWRIGd DU P e 0, - 3T U [d@ el O I I8! ) &1 994 SHIIg:

1. BYUF T AR 11 S Tl &
2. B 1 AR I 1 Tad §
3. DY TG 6. Al HYF 117 ©
4. BYF 17T0d &, Al HU I 981 &

Options :

68634040089. 1
68634040090. 2
68634040091. 3
68634040092. 4



Question Number : 23 Question Id : 68634010146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 Py RTTUE:

HYT I TIRE T8 o & o IR YRel1g Reid 89 (3mRaisons) niaufa & aed d@1 o1 Y- 3mafies ga1
(FTT) FYUR i ¢

B 11: Ra¥ YURE H4d 100 &9 (3MYR) [dg UR SM1eNd Sidl § &l JURE 9 1% &8 gidl ¢
JURIad DYl & et |, i 4T U [ddhedl 9 98! SR &1 999 DIl

1. B AR IS 981§
2. BYT 1 R 11 S TTed &
3. YT TG §. b HYA 11 7T0d ©
4. TYT 17T &, AT B 1 T §

Options :

68634040089. 1
68634040090. 2
68634040091. 3
68634040092. 4

Question Number : 24 Question Id : 68634010147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR HGUH BT D41 w58 ald Haiad 8 Jul ARG ! B FHH Sa¥R Uad Hdl g7
1. =g 22

TS 16

3. 3G 20

4. AT=e
Options :
68634040093. 1
68634040094. 2

68634040095. 3
68634040096. 4
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Question Number : 24 Question Id : 68634010147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR AU BT B1H-41 sgw5g ald A § 91l ARIRS! B GHH SaeR Yad odl 87
1. =g 22

TS 16

3. T4 20

4, 34
Options :
68634040093, 1
68634040094. 2

68634040095. 3
68634040096. 4
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Question Number : 25 Question Id : 68634010148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg

T 1 = 11

TR Ew |G e R o & wge aw)
EEEEIE I [3ccig

ABEL 11. [fg- ®ihd o

RELEEE 1L [§cHIPR o

Sfafdgddl EFaus)| IV, [3fgdd g

fFafaRad fadedl & 9 981 3t &1 99+ Hifulu

1. A-III. B-I. C-II. D-IV

Olo|w]*=

2. AL B-IV. C-1II. D-III
3. A-IV. B-1. C-1II. D-II
4. A-IV. B-I. C-1II, D-III

Options :

68634040097. 1
68634040098. 2
68634040099. 3
68634040100. 4

Question Number : 25 Question Id : 68634010148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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HEEE 11. [z ®ied au

RELEEE 11 [SeIdR o
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Fafaiad f[deedl § O Uel 3R & 944 DI

1. A-III, B-1. C-II. D-IV

ofow]>

2. A-1. B-TV. C-I1. D-TII
3. A-IV. B-1. C-I11. D-II
4. A-TV. B-1. C-I1. D-III

Options :

68634040097. 1

68634040098. 2

68634040099. 3
68634040100. 4

Part B: Agri Business Management

Section Id : 686340202
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340331
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634010149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Grass seeds I. [Wild sunflower, Bulrush
B. |Nut trees II. |Wild rice, Wheat grasses
C. |Forb seeds IT1. |Hog Peanut, Wild Licorice
D. Roots, tubers and rhizomes of Frogh - W
plants

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-I, D-III

| B

AL B-IV, C-11, D-I
3. A-L. B-II. C-III., D-IV
4. A-IV, B-11I. C-I1, D-1

Options :

68634040101. 1
68634040102. 2
68634040103. 3
68634040104. 4

Question Number : 26 Question Id : 68634010149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-II. B-IV. C-1. D-ITI

ofofw]>

| ]

AL B-IVL. C-I1L D-I
3. A-L. B-I1, C-III. D-IV
4. A-IV. B-IIL C-II. D-I

Options :

68634040101. 1
68634040102. 2
68634040103. 3
68634040104. 4



Question Number : 27 Question Id : 68634010150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Weeds act as:

1. Mirconutrients to valuable crop

[ )

. Alternate hosts that harbour insects. pests and diseases

L]

. Favourable soil substance
4. Favourable plant for solar radiation and space

Options :

68634040105. 1
68634040106. 2
68634040107. 3
68634040108. 4

Question Number : 27 Question Id : 68634010150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040105. 1
68634040106. 2
68634040107. 3
68634040108. 4

Question Number : 28 Question Id : 68634010151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s not related to water use efficiency?
1. It 1s commonly used to increase productivity of water

2. It 1s defined as crop yield per unit area per unit of water use
3. The commonly used unit of water use efficiency is ke/m> second
4. Tt 1s based on selection of the properly adapted crops and varieties
Options :
68634040109. 1
68634040110. 2

68634040111. 3
68634040112. 4

Question Number : 28 Question Id : 68634010151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[ 1 O BH-a1 S W G&idT 4 UelYd Tl 6o
1. T8 I Od &1 ScdTaadl & H1+ & o ugead sial §
2. T By diedl Uid $bTs &7%hd Uid Sls oie UM & =9 H URYING foar Sirdr &
3. Ol SUDHT G&dl &1 &S YHAd: YN 61 o aTdl 3915 keg/m’ U$S g
4. I TR IDid BT 9U 5 & T R Auia sl g

Options :

68634040109. 1
68634040110. 2
68634040111. 3
68634040112. 4

Question Number : 29 Question Id : 68634010152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Shelf life of papaya fruits may be extended by using the following post harvest treatment

A Storage at 70°C

B. Controlled atmosphere
C. Waxing of fruits

D. Storage at 0°C

E. Storage at 25°C

Choose the most appropriate answer from the options given below:

1. Aand B only

[ ]

.B. C and D only
3.D and E only

4. A B and C only

Options :

68634040113. 1
68634040114. 2
68634040115. 3
68634040116. 4

Question Number : 29 Question Id : 68634010152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qUid & Ball B HuE 31 (e argt) F9 H 9 o dets vy SUARI ¥ 9815, o 9ol o7

A. 70°C TR HSRUT
B. fdfaa mafazor
C. Bdl 9 °iF Wd
D. 0°C TR YSRU

E. 25°C IR YHSRU

i< fou e fasedi O 9 9ol 3Tk &1 99 Bifoy ;
1. %ad A 3R B
2.%adB.C 3RD
3.%ad D 3IRE
4. PIAA.B IR C

Options :

68634040113. 1
68634040114.2
68634040115. 3
68634040116. 4



Question Number : 30 Question Id : 68634010153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the periods of Philosophy of Community Development in chronological order.

A Intense Agriculture Development era

B. Pre Independence era

C. Post Independence era

D. Community Development and National Extension era
E. Modern community development era

Choose the correct answer from the options given below:
1LABCBDE
2B DB A
3.CDAEB

4.B.C.D.A.E

Options :

68634040117. 1
68634040118. 2
68634040119. 3
68634040120. 4

Question Number : 30 Question Id : 68634010153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. qd Iqa=dl Wit g
C. Y oA uife g
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1. AAB.C.D.E

2.B.C.D.EA

3.0, DAEB

4.B.C.D.A.E
Options :

68634040117. 1
68634040118. 2



68634040119. 3
68634040120. 4

Question Number : 31 Question Id : 68634010154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Modern Cropping systems are:

1. Annual Monocultures

b2

. Control using pesticides
3. Cannot be controlled using herbicides
4. Does not use tillage

Options :

68634040121. 1
68634040122. 2
68634040123. 3
68634040124. 4

Question Number : 31 Question Id : 68634010154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YD DY T B
1. ATt Upd Gae=
2. BICARIDT & WA § FHg=u
3. QAR & AN ¥ FHafEd 81 fdar o dodn
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Options :

68634040121. 1
68634040122. 2
68634040123. 3
68634040124. 4

Question Number : 32 Question Id : 68634010155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): Soil 1s a medium for the production and growth of plants.

Reason (R): It provides a constraint for plant roots to grow and absorb the water. oxygen, and nutrients
essential for plant development and growth.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

Laa

. (A) is correct but (R) is not correct

e

. (A) is not correct but (R) is correct

Options :

68634040125. 1
68634040126. 2
68634040127. 3
68634040128. 4

Question Number : 32 Question Id : 68634010155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040125. 1
68634040126. 2
68634040127. 3
68634040128. 4
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Question Number : 33 Question Id : 68634010156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process of photosynthesis requires the following:

A. Carbon dioxide
B. Rock
C. Light
D. Insect
E. Water

Choose the correct answer from the options given below:

1.B.C.D

[ )

A B.E
3ACE
4 AC.D

Options :

68634040129. 1
68634040130. 2
68634040131. 3
68634040132. 4

Question Number : 33 Question Id : 68634010156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.B.C.D

2.A.B.E
3.A.C.E
4.A,C,D

Options :

68634040129. 1
68634040130. 2
68634040131. 3
68634040132. 4



Question Number : 34 Question Id : 68634010157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Vertical Integration in agribusiness oceurs when:

1. A single firm controls several stages in the production of food and/or fiber

(B

. A multiple firm controls in firm production through several stages of farm productivity
3. Horizontal Integration does not take place
4. Two firms act together

Options :

68634040133. 1

68634040134. 2

68634040135. 3
68634040136. 4

Question Number : 34 Question Id : 68634010157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040133. 1
68634040134. 2
68634040135. 3
68634040136. 4

Question Number : 35 Question Id : 68634010158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Breeder seed I |White
Foundation seed] II. [Blue
Certified seed | IIL |[Opal green
Labelled seed | IV. |Golden vellow

ol ofw[>

Choose the correct answer from the options given below:
1. A-IL. B-1. C-III. D-IV
2. A-IL B-IIIL C-IV, D-1
3. A-IIIL. B-1. C-II. D-IV
4. A-IV. B-1. C-I1. D-ITI

Options :

68634040137. 1
68634040138. 2
68634040139. 3
68634040140. 4

Question Number : 35 Question Id : 68634010158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-TI. B-I. C-1II. D-IV
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2. A-IL B-III, C-IV, D-I
3. A-IIT, B-1. C-1II. D-IV
4. A-IV, B-1, C-1II, D-III

Options :

68634040137. 1
68634040138. 2
68634040139. 3
68634040140. 4



Question Number : 36 Question Id : 68634010159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the statements which are correct for vertisols are:

A. They are fertile with high cation exchange capacity

B. These soil expand and contract because of high clay content

C. Found in dry climates

D. When wet, soils are sticky. when dry they are hard

E. Accumulation of gypsum. calcium carbonate are common features

Choose the correct answer from the options given below:
1. A. B. C and E only
2. Aand E only
3. A BandD only

4. A and B only

Options :

68634040141. 1
68634040142. 2
68634040143. 3
68634040144. 4

Question Number : 36 Question Id : 68634010159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aétara & Hay # 9 0 9 HH-1 YT el §

A. 3= FHemH (¥ AR ear S gy Id e
B. 3= Gfie] U1 & SRY I8 o] fawaid aul Sofd gl g
C. I Siar] H Url ol §
D. ofq Tfieft, a1 Fuferd &, Fe gE d FoR §
E. foremm, Salos T1ef-e & 990 I faSivan §
= f3u 7t fowedi § & 98t SR &1 999 DI :
1. BIAA. B. C HRE
2. Had A RE
3. HAAA.BARD

4. Hdd A 3R B

Options :
68634040141. 1
68634040142. 2




68634040143.3
68634040144. 4

Question Number : 37 Question Id : 68634010160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
(Terms) (Scientists)
A |Gene I. Pohannsen
B. |[Recon, Muton | II. |Benzer
C. |Heterosis III. [Bateson
D. |Genetics IV, |Shule

Choose the correct answer from the options given below:

1. A-L B-IIL. C-IV. D-II
2. A-L. B-IV. C-III. D-1I
3. A-L. B-II. C-IV. D-III
4. A-IV. B-II. C-III. D-1

Options :

68634040145. 1

68634040146. 2

68634040147. 3
68634040148. 4

Question Number : 37 Question Id : 68634010160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor
T 1
EiEl i

WDHEE | I SR
By 111 [T

AR | V. [{[d
Fufafe fawe § 9 98t 3= 1 999 Fifeu

1. A-I. B-III. C-IV. D-II

T 0
BRI

Ofo|w]=

2. A-L. B-IV, C-III, D-II
3. A-L. B-II. C-IV, D-III
4. A-IV, B-I1, C-III, D-I

Options :

68634040145. 1
68634040146. 2
68634040147. 3
68634040148. 4

Question Number : 38 Question Id : 68634010161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Extension administration 1s required in agriculture for:

A Flow of usetul information about agriculture equipment.

B. Knowledge of new technologies related to farming.

C. Govt policies dissemination.

D. Involvement of private seed companies and pesticides companies
E. For better involvement of private players to obtain profit.

Choose the correct answer from the options given below:
1. A, B. Conly
2.B,.C.D only
3.A.C.D only

4.A . B.C.Donly

Options :

68634040149. 1
68634040150. 2
68634040151. 3
68634040152. 4



Question Number : 38 Question Id : 68634010161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fawaTid W1k o1 saxgdal v 4§ (3 4 9 feud e g

A. PN IUSHN & §R H IULNf SR BT Ydle

B. BN I Haltid g db-1p| I A

C. IRHRI Al

D. ot diol Hui-gi auT $IeARE Sa-dl &I HFfER

E. AH YT &3 & oY ol Raartsdl &1 sgd 99a9
= fou e fAwedt § § WE SR &1 994 B :

1.FAAA. B.C

2. %ad B, C,D

3.BAAA.C.D

4. FATA.B.C.D

Options :

68634040149. 1
68634040150. 2
68634040151. 3
68634040152. 4

Question Number : 39 Question Id : 68634010162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Domestication is the:

—

. Adapting or taming of wild species of plants or animals

(B

. Permanent human settlements

L¥ 5]

. Origin of modern civilizations
4. Gradual process likely lasting hundred of years

Options :

68634040153. 1
68634040154. 2
68634040155. 3
68634040156. 4

Question Number : 39 Question Id : 68634010162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040153. 1
68634040154. 2
68634040155. 3
68634040156. 4

Question Number : 40 Question Id : 68634010163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The portion of soil occupied by air and water 1s termed as:

1. Pore space

[ )

. Cohession
3. Adhesion
4. Density

Options :

68634040157. 1
68634040158. 2
68634040159. 3
68634040160. 4

Question Number : 40 Question Id : 68634010163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 g8 YT ol [d ofd a1 ar] § {1 38T 5. Heamdl o:
1. Teos I (UR ¥0)

Rir e

| )

TS

[#%]

4. Yqd

Options :



68634040157. 1
68634040158. 2
68634040159. 3
68634040160. 4

Question Number : 41 Question Id : 68634010164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): The market structure for an industry refers to the number of sellers in the industry.
Reason (R): An oligopoly is composed of numerous firms which produce identical products.

In the light of the above statements. choose the correct answer from the options given below:

[y

. Both (A) and (R) are true and (R) 1s the correct explanation of (A)

2

. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

LFN]

. (A) 1s true but (R) 1s false

=

. (A) 15 false but (R) is true

Options :

68634040161. 1
68634040162. 2
68634040163. 3
68634040164. 4

Question Number : 41 Question Id : 68634010164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1931 wuT fRw MU ?: ST (Assertion A) ¥ ¥0 F FfEa 2 & E¥RT RO (Reason R) F 30 H;
HfUFYT A: TF I &I STaR S¥a &l He I d fdearei &1 S=m 3

PRI R: TH A9 g BH/HAE O &40 8l § ol TeuHH Sdg a1 o

SURIE U F A o, A 3 T fFeed & | 999 SugE IW $1 9949 Sy

1. A SRR I T8l § IR R, A DI Tg! RS &
A SRR IA TGEI 8. AfFT R . A I I8! RSN T8 &
AGSIEalpTR U AE ®

b2

[F5]

AT R AR TA R

Options :
68634040161. 1
68634040162. 2



68634040163. 3
68634040164. 4

Question Number : 42 Question Id : 68634010165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The breed of cow that belongs to Uttar Pradesh. Punjab. Haryana and Madhya Pradesh is:

1. Gir

[

. Red Sindhi
3. Sahrwal
4. Hallikar
Options :
68634040165. 1
68634040166. 2

68634040167. 3
68634040168. 4

Question Number : 42 Question Id : 68634010165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G &1 98 75 o1l [ IR WS, Uole, SR auT 0 Ueg 4 &
1.TR
e fa=ht
el
4. BT
Options :
68634040165. 1
68634040166. 2

68634040167. 3
68634040168. 4

| )

L

Question Number : 43 Question Id : 68634010166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A): Agriculturally productive soils are formed over a period of 10-12 years.

Reason (R): The type of soils are formed due to interactions of climate, biological organisms. chemical forces.
and physical forces on sedimentary. igneous and metamorphic rocks.

In the light of the above statements. choose the most appropriate answer from the options given below:

a—y

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

LFS]

. (A) 1s correct but (R) 1s not correct

e

. (A) 1s not correct but (R) is correct

Options :

68634040169. 1
68634040170. 2
68634040171. 3
68634040172. 4

Question Number : 43 Question Id : 68634010166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I St Fu= RRu U 2 firpuA (Assertion A) F FU ¥ fifEd & @Y §¥%1 FRUT (Reason R) & ¥U H;

fIFYE A: H G SEEH Jal, 10-12 T4 & dldl U4 ol a1 §

%mw R_;fﬂ NN @1 gal, Jaarg, Widd Ul TREHE aa, au1 Yiiae 94 - a9, S aul SR g IR IR i

1. A 3R R I 961 § SR R, A DI el RS §

2. A SRR G HE1 &, AfP-TR . A ] 8l IR 181 ©
3 ATR B AfpT R Tt AT R

4 AT TSI g APIRTEI B

Options :

68634040169. 1
68634040170. 2
68634040171. 3
68634040172. 4

Question Number : 44 Question Id : 68634010167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Cartel is a situation in which a group of independent firms join together to regulate price and
production decisions.

Reason (R): Collusion is a situation of market structure in which firms in an industry jointly determine the
price of the good.

In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
3. (A) 18 true but (R) 1s false
4, (A) 1s false but (R) 1s true

Options :

68634040173. 1

68634040174. 2

68634040175. 3
68634040176. 4

Question Number : 44 Question Id : 68634010167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁﬁmﬂﬁt{wﬁ ﬂ-lﬁ-mq(ﬁsserﬁoué) %mﬁﬁlﬁ.ﬁﬁ'%?ﬁmﬁﬂ'ﬂ&easun R)afmﬁ;
gr_f‘wmn:av—.a‘a e Haffa g o etk Sufol @1 Ue WiE O @ 4od OUl SMIed o Mol @1 Faad Sl

FROT R: TIege Hibe g & U sarufd § o we S | dufal fiaes awgel &1 0w HuiRd s 2|
SWRIE FUH F A o, A G M fFeedl & | 9a9 SugE IW $1 9949 S

1. A 3R R &I 961 § SRR, A DI el RS §

2. A SRR G HEl €. AfP-TR . A ] T8l IR 181 ©
3.A9SIg AP R Tl el &

4. AGE T8 g AP R TR ©

Options :

68634040173. 1
68634040174. 2
68634040175. 3
68634040176. 4

Question Number : 45 Question Id : 68634010168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I: Agrarianism is a belief that promotes the idea that farming is a noble profession and important
economic endeavour.

Statement IT: Agriculture is the process of cultivating land for the production of food, feed. fiber. and fuel
from plants or nature.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

|

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct
Options :
68634040177. 1
68634040178. 2

68634040179. 3
68634040180. 4

Question Number : 45 Question Id : 68634010168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIEE aﬂu:rﬁﬂﬂﬂ%':
SHTUTUT (Assertion A) & FY ﬁﬁlﬁﬁ%?ﬁ G PIUT (Reason R) IO,

arﬁm%uqm ST TP A ¢ Off 5 [9R 1 0 31 & &b HIY Yo AT Haug qul Ta 1
U &:

PR R: T TF Uil ¢ o Ui R Gl T HioH, TRI, O] TUT 389 BT Sdg- uiel 91 U fa gl
fepararar g
SURIG HYF D el 1, e 8y Y fddedl I 4 999 Iuga S &I 9494 Doy

1. A SRR G 981 § AR R. A DI U5l ARAT 3
ASRRIFTE T, AFTR ., AT TS R T §
AT B AfPTR Gl ©
ATE TR g AT R WEl ©

Options :
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68634040177. 1
68634040178. 2
68634040179. 3
68634040180. 4

Question Number : 46 Question Id : 68634010169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In positively skew distribution:

1. Mean = Median = Mode

[ )

. Mean < Median < Mode

Lad

. Mean = Median = Mode
4. Mode = Median = Mean

Options :

68634040181. 1
68634040182.2
68634040183. 3
68634040184. 4

Question Number : 46 Question Id : 68634010169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS YIS Jag faaror 4

1. O1 = O = S50
2. HI] < HIGS < G5
3. O > AP > 950D
4, 95D > HIHD > 0L

Options :

68634040181. 1

68634040182. 2

68634040183. 3
68634040184. 4

Question Number : 47 Question Id : 68634010170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Fungicides I [Kill insects
Bactericides II. [Kill Bacteria
[Nematicides I |K1ll Fungi
[nsecticides IV [Kill Nematodes

o[ ofw[>

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV
2. A-IV, B-III. C-I1. D-I
3. A-IIL B-II. C-IV. D-1
4. A-II. B-IIL. C-IV. D-I

Options :

68634040185. 1

68634040186. 2

68634040187. 3
68634040188. 4

Question Number : 47 Question Id : 68634010170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen

T 1 g 1
A [paopdEe | L [®lcl bl I oidl 6
B. [Siam e | 1 [Siiargsii &1 = & g
c. [FrareE T | 11 [Gas & T didl &
D. [@icA=® V. HiH1eIS @1 A dedl &

frafafad fdeeal & 9 9l SR &1 994 Sifo :

1. A-I. B-II. C-III. D-IV
2. A-IV, B-III. C-I1. D-1
3. A-IIL. B-11, C-IV. D-1
4, A-IL. B-III. C-IV. D-I

Options :

68634040185. 1

68634040186. 2

68634040187. 3
68634040188. 4



Question Number : 48 Question Id : 68634010171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hidatsa Agriculture was practiced by Hidatsa tribe in a particular region called:

1. Missouri River Valley

(B

. Meditterrancean Sea
3. Red Sea
4. Nile River

Options :

68634040189. 1
68634040190. 2
68634040191. 3
68634040192. 4

Question Number : 48 Question Id : 68634010171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI BN, oS SHSld gR1 U ARy &3 © 1 Wl 8. ol dgardl &
1. PRI =1t wrel

 YAY AR

[ ]

L

T TR
4. Hid el

Options :

68634040189. 1
68634040190. 2
68634040191. 3
68634040192. 4

Question Number : 49 Question Id : 68634010172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The process in which detachment and movement of soil minerals and organic matter occur by wind and water
is called:

1. Detenion
2. Erosion

3. Corrosion
4. Diversion

Options :

68634040193. 1
68634040194. 2
68634040195. 3
68634040196. 4

Question Number : 49 Question Id : 68634010172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag Ufcha fored a1 @i-e qul prei-a uaidl &1 §d1 @ 9d gR1 Sie SR Fe 6171 Hgaldl o:
1. Se¢fgH

| )

TR
3. &R
4. 3OgA

Options :

68634040193. 1
68634040194. 2
68634040195. 3
68634040196. 4

Question Number : 50 Question Id : 68634010173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most significant legislation passed for the distribution of unsettled land in United States of America 1s:

1. Homestead Act of 1862

[ )

. Homestead Act of 1858
3. Homestead Act of 1859

4. Homestead Act of 1864

Options :
68634040197. 1



68634040198. 2
68634040199. 3
68634040200. 4

Question Number : 50 Question Id : 68634010173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Y SRS H (darad (sFdeds) Y & faawur & oy @ Hom uikd g s § -
1. 1862 P g s Siftf4gn
1858 DI g S Hfufad
. 1859 P g S SHfAfgH
. 1864 BT BIHR S Afe-aq

[

L]

=S

Options :

68634040197. 1
68634040198. 2
68634040199. 3
68634040200. 4

Question Number : 51 Question Id : 68634010174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |PLC I. |Agreement on Agriculture
B. [WTO II. |General Agreement on Tariff and Trade
C. JADA II1. [Product life cycle
D. |GATT IV, [World Trade Organization

Choose the correct answer from the options given below:

1. A-I. B-1I. C-III. D-IV
2. A-IL B-1IV, C-1, D-II
3. A-IV. B-III. C-1. D-II
4. A-I. B-IV. C-II1, D-II

Options :

68634040201. 1

68634040202. 2

68634040203. 3
68634040204. 4



Question Number : 51 Question Id : 68634010174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 9=t 11 9 e Sifey

T I T 11
A JpLC 1 [fd W g
B. [WTO 11 [B[co d AqUR 4R TTH] ]
C laoa 111 [(iSee TIg®h Higdha
D. [GATT IV. [[§% STUR ¥4

Ffafad Aol & T U8 STk &1 994 SV -

1. A-I, B-IL C-IIL. D-IV

|

AL B-IV. C-1. D-II
3. A-IV, B-I1I. C-1, D-II
4. A-1. B-IV. C-III. D-II

Options :

68634040201. 1
68634040202. 2
68634040203. 3
68634040204. 4

Question Number : 52 Question Id : 68634010175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Damping-off disease of vegetables is caused by:
A. Pythium appanidermatum
B. Clavibacter michiganensis
C. Xanthomenas campistris

D. Alternaria Solani
E. Phytophthora parasitic

Choose the correct answer from the options given below:
1. B and C only
2. Aand B only
3. Aand E only

4. A and D only

Options :

68634040205. 1
68634040206. 2
68634040207. 3



68634040208. 4

Question Number : 52 Question Id : 68634010175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el 1 SAMHT 3T I BT RS &

A. UII1HE gUsHeH
B. Foalaaey e

D. Sffee¥edr Tici]
E. BrseleRT geifific s
i fau U f[daredl 1 O 9al 3Tk &1 944 $ifefu ;
1. HBIAB AR C
2. Had A 3R B
3. Had A ARE

4. HFd A 3R D

Options :

68634040205. 1
68634040206. 2
68634040207. 3
68634040208. 4

Question Number : 53 Question Id : 68634010176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps involved in product life cycles starting with initial to final steps:

A, Decline
B. Growth
C. Introduction
D. Maturity
E. Consistency
Choose the correct answer from the options given below:
1.E€.B.DAE
2.8, CAD.E
3.6, DA E B
4.C.D.A.B.E

Options :



68634040209. 1
68634040210. 2
68634040211. 3
68634040212. 4

Question Number : 53 Question Id : 68634010176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hisde AW Uedhd (301G silg-gwh) H d 9Rull &1 RIYE I Sifdd 9301 d& ouaid &Ifoy

A BN
B.dl%
C. 4 iaa
D. ORg&dr
E. gdqdr

4= f2w e et & € 98 SR BT 9ga P

I.LC.EDLAE
22B.C.ADE
JC.DAE.B
4. C.D.A.B.E

Options :

68634040209. 1

68634040210. 2

68634040211. 3
68634040212. 4

Question Number : 54 Question Id : 68634010177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Essential elements are those which are necessary for a plant to complete its growth cycle.
These elements are components of a molecule or an enzyme within the plant.

Reason (R): Fifteen elements are essential for plant growth.

In the light of the above statements. choose the most appropriate answer from the options given below:

a—y

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

[ ]

. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

LFS]

. (A) 1s correct but (R) 1s not correct

e

. (A) 1s not correct but (R) is correct

Options :

68634040213. 1
68634040214. 2
68634040215. 3
68634040216. 4

Question Number : 54 Question Id : 68634010177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁmﬁﬁt{wé GlﬁW(AssertiouA]%mﬁﬁﬁﬁ%?ﬁmW(Reasun R)a?mﬁ
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@RI R: UIGY 1S & [T 15 T S0P g |

SWRIFd DY P ATl 1, Hid f4U 7Y faedi o 9 Fa9 Sugead 3R &1 94+ Difory
1. A SRR &M 981 § SR R. A D el R 3

ANRRIA T E AFTR . AT TS TR T ®

AT AT R TSR

4, A 8] T8I ¢ Wb R Wel ©

Options :

68634040213. 1
68634040214. 2
68634040215. 3
68634040216. 4
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Question Number : 55 Question Id : 68634010178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct components combination regarding Agrisilvipasture 1s?

1. Trees + Crops + Pasture or animals

| )

. Trees + Fruits + Crops
3. Trees + Fishes
4. Trees + Vegetables
Options :
68634040217. 1
68634040218. 2

68634040219. 3
68634040220. 4

Question Number : 55 Question Id : 68634010178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PN I IRATE & Ha # 95l ues A g2

. g8 + By + IRATE a1 9

—

| ]

. g8 +~ heige] +
. q&f + HBferar
. gé&f + Fiewai

L]

=

Options :

68634040217. 1
68634040218. 2
68634040219. 3
68634040220. 4

Question Number : 56 Question Id : 68634010179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the responsibilities of village level workers under Panchayati Raj system.

A. Planning development programmes in the district.

B. Development works at village level.

C. Forms link between technical department and the rural people.
D. Coordmates the activities at town level.

E. Coordimates the development programmes at district level.

Choose the correct answer from the options given below:

l.Aand B

[ )

.BandC
3.Cand D

4. Dand E

Options :

68634040221. 1
68634040222. 2
68634040223. 3
68634040224. 4

Question Number : 56 Question Id : 68634010179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ul 76l & ST 9 Wk W Y] B el o1 9 $Y-

A o § fowrg ol &t g
B. U1 TR R fae &
C. AU AR quT ol fSUIeH= & A& féfe a1

D. Fal &R UR fafdfeal o1 ga-ag
E. Toa1 TR R de srideal &1 gue

i fU T fasedl § 9 el STk &1 99 Hifoid ;
1.ASRB
2. B3RC
3.C3RD
4.D3RE

Options :

68634040221. 1
68634040222. 2
68634040223. 3
68634040224. 4




Question Number : 57 Question Id : 68634010180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which year National Rural Employment Guarantee Act (NREGA) was notified?

1. 2009

[ )

.2014
3.2016
4, 2005
Options :
68634040225. 1
68634040226. 2

68634040227. 3
68634040228. 4

Question Number : 57 Question Id : 68634010180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fere ol gty arHivn ISR MRS UFTE (NREGA) B sifgfd foar

1. 2009

|

2014
3. 2016
4. 2005
Options :
68634040225. 1
68634040226. 2

68634040227. 3
68634040228. 4

Question Number : 58 Question Id : 68634010181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The extension teaching method used for a group of farmers at village level 1s:

1. Radio and film shows

| B

. Field day
3. Personal letter

4, Television



Options :

68634040229. 1
68634040230. 2
68634040231. 3
68634040232. 4

Question Number : 58 Question Id : 68634010181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U &R R PYD| P g o fo [awanixa e fafd (geges= S Ays) & 9 & wai B S s -
1. ¥ &g quT e
&gA feay
AEEIREF
4, Tifae
Options :
68634040229. 1
68634040230. 2

68634040231. 3
68634040232. 4

| )

[#5]

Question Number : 59 Question Id : 68634010182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many titles were covered in the 2008 Farm bill of United States?

1.12

b2

15
3. 18
4. 16

Options :

68634040233. 1
68634040234. 2
68634040235. 3
68634040236. 4

Question Number : 59 Question Id : 68634010182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g I SR & FH faa 2008 H fFa il &1 sre1e e mn @

1712

b2
—_
L

3. 18
4. 16

Options :

68634040233. 1
68634040234. 2
68634040235. 3
68634040236. 4

Question Number : 60 Question Id : 68634010183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Requirements for Verbal Communication and Non Verbal Communication are:

A. Sender

B. Receiver

C. Medium

D. Mobile Phones. Television.

Choose the correet answer from the options given below:

1. A B, Conly

[ ]

.B. C.D only
3.A.B.C.D only

4. A. C.D only

Options :

68634040237. 1
68634040238. 2
68634040239. 3
68634040240. 4

Question Number : 60 Question Id : 68634010183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e TEI0 auT HHIfE® TER0 & Ha9gaHdnt o
A V9B
B. UTel

C. ey
D. Hiasd B, efafaw
i fau T fadedl © I el STk &1 999 Bifod ;
1.PdU A, B.C
2. $ddB.C.D
3. PAUA.B.C.D

4. FATA.C.D

Options :

68634040237. 1
68634040238. 2
68634040239. 3
68634040240. 4

Question Number : 61 Question Id : 68634010184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Conservative Reserve Program promotes which of the following?

1. Environment Distress Management

[

. Commodity Conservation Program
3. Nutrition Conservation Program
4. Soil and Water Conservation and wetland restoration promotion

Options :

68634040241. 1
68634040242. 2
68634040243. 3
68634040244. 4

Question Number : 61 Question Id : 68634010184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WRefur Rerd v, e o 8 eyl gemar gar e
1. gafaRTr dde HaeH
2. T TREU HAHH
3. 90T TR&0 ey
4, TET TYT STel AREUT TYT deaivs (3MTs-Hf) 7ol &0 Fr=gu

Options :

68634040241. 1
68634040242. 2
68634040243. 3
68634040244. 4

Question Number : 62 Question Id : 68634010185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Green pigment of thylakoid absorb photons of light energy during photo synthesis.
Statement IT: In the process of respiration light energy i1s converted into chemical energy.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4, Statement I is false but Statement II is true
Options :
68634040245. 1
68634040246. 2

68634040247. 3
68634040248. 4

Question Number : 62 Question Id : 68634010185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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PRI R: Y91 1 Ulehal T U9 Sl T9@=e Foil § uRafdd e eidt 21

SR HUF & 3Taie 4, 1< U T faeed! & I 999 IUgad SR &1 904 $ifoid
1. A SRR GHI 9l § SR R. AD| Hel AR §
A SRREF T8 5. WP R . A T 6! ORAT T8l &

3. AGgi g dfT R ORI T8I ©
4. ATEI TS g AfFT R WET B

Options :

68634040245. 1
68634040246. 2
68634040247. 3
68634040248. 4

[ ]

Question Number : 63 Question Id : 68634010186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The nutrient considered as secondary plant nutrient is:

1.N

[

.P
3.Ca
4. Mn

Options :

68634040249. 1
68634040250. 2
68634040251. 3
68634040252. 4

Question Number : 63 Question Id : 68634010186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



98 TN dq ford [Edia® ey UINS dd $el odl & -

I.N
2.P
3.Ca
4. Mn

Options :

68634040249. 1

68634040250. 2

68634040251. 3
68634040252. 4

Question Number : 64 Question Id : 68634010187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A INDRI I. Hisar
B. |[CIRB II. JAvikanagar
C. [CSWEI I11. [Kamal
D. [NEC-Pig IV, |Guwahati

Choose the correct answer from the options given below:

1. A-TIL. B-1. C-II. D-IV

| )

CA-IIL B-I1L C-IV, D-I
3. A-L B-I1. C-IV. D-II
4, A-III. B-IV. C-II. D-I

Options :

68634040253. 1
68634040254. 2
68634040255. 3
68634040256. 4

Question Number : 64 Question Id : 68634010187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 T
A |NDRI 1. [[eOr
B. [CIRB 1. [Hfd® TR
C. [cswRI I1L. [@<Td
D. [NRC-Pig IV. fIaErEl
frafeRad faeedi o I 98l GOk &1 99 Sifor .

1. A-III, B-I. C-II. D-IV

| ]

AL B-ILL C-IV, D-I
3. A-L. B-III, C-IV. D-II
4. A-1. B-I11, C-IV, D-II

Options :

68634040253. 1
68634040254. 2
68634040255. 3
68634040256. 4

Question Number : 65 Question Id : 68634010188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |Ongole I |Goat
B. Mehsana II. [Cow
C. |Beetal I1I. |Buffalo
D. [Nellore IV. |Sheep

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV. D-ITI

| )

- A-L B-IL, C-III. D-IV
3. A-IL B-II1. C-1. D-IV
4, A-L. B-I11, C-IV, D-II

Options :

68634040257. 1
68634040258. 2
68634040259. 3
68634040260. 4



Question Number : 65 Question Id : 68634010188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Oy

gl 1 1 gl 11 9 e siforg

T I T I
EERU

A AT it

B. [Hegmon . fma
c Ead 11 (4T
D. HeaR v [4s

fafdiad fawedl O 3 I8! 3T &1 99 Sl -

1. A-II. B-L. C-IV, D-III

|

. A-L B-II, C-III. D-IV
3. A-IL B-I1II. C-1. D-IV
4. A-1. B-I1I, C-IV. D-II

Options :

68634040257. 1
68634040258. 2
68634040259. 3
68634040260. 4

Question Number : 66 Question Id : 68634010189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Scarcity affects:
1. Industrial Farms
2. Agricultural producers
3. Consumers
4. Farms. Producers and Consumers
Options :
68634040261. 1
68634040262. 2

68634040263. 3
68634040264. 4

Question Number : 66 Question Id : 68634010189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040261. 1
68634040262. 2
68634040263. 3
68634040264. 4

Question Number : 67 Question Id : 68634010190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measure of the value of a Nations Total Production of Goods and Services 1s known as:

1. GNP (Gross National Product)

| )

. GDP (Gross Domestic Product)
3. NNP (Net National Product)
4. ATP (Agriculture Total Product)

Options :

68634040265. 1
68634040266. 2
68634040267. 3
68634040268. 4

Question Number : 67 Question Id : 68634010190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Y B g U1 Ha131 & T SedTeA & T P [ B S o1l &

oy

. GNP (A9 AP1T 3dIE)

| )

. GDP (Hp el TRT] 31E)
. NNP (¢ P1d 3cdie)
. ATP (%14 S Ic1g)

Options :

(5]
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68634040265. 1
68634040266. 2
68634040267. 3
68634040268. 4

Question Number : 68 Question Id : 68634010191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The name of crop residue left on soil surface is:

1. Oats

[ )

. Alfalfa

. Mulch

Lad

4. Diurnal

Options :

68634040269. 1
68634040270. 2
68634040271. 3
68634040272. 4

Question Number : 68 Question Id : 68634010191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 TdE IR o BUd a9 G Tl e, HIAH G -
. SHITH (372)
TSP

—

| )

3. Hed
4. %@

Options :

68634040269. 1
68634040270. 2
68634040271. 3
68634040272. 4

Question Number : 69 Question Id : 68634010192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Physical method of weed control does not include:

1. Hoeing

2

. Crop Rotation
3. Hand weeding
4, Tillage

Options :

68634040273. 1
68634040274. 2
68634040275. 3
68634040276. 4

Question Number : 69 Question Id : 68634010192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ERAaR a0 &t 2 fifae fafert & s fifaa 78 &
1. ST

P deh U]

1Y Y WRUdaR FadTar
1.

Options :

68634040273. 1
68634040274. 2
68634040275. 3
68634040276. 4

| ]

L

Question Number : 70 Question Id : 68634010193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Munsell of colour chart is used for:

1. Reading of soil solution

[ )

. Reading of plant chlorophyll

L]

. Reading of soil surface
4. Reading of soil colour

Options :
68634040277. 1



68634040278. 2
68634040279. 3
68634040280. 4

Question Number : 70 Question Id : 68634010193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eIl G2 0110 S 0B (v [P 8 o) A s
1. 71 faerae &1 reuies ({113
UGy FIRIthd BT Urddis (IS
Tl 9dg Pl uredie (i)
&1 T BT ursdics (S

[

L]
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Options :

68634040277. 1
68634040278. 2
68634040279. 3
68634040280. 4

Question Number : 71 Question Id : 68634010194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The longest day for the vear occurs on 21st June in Northern Hemisphere and on 21 December in Southern
Hemisphere. This is called:

1. Winter Solistice

| )

. Autumn Solistice

Laa

. Spring Solistice
4, Summer Solistice

Options :

68634040281. 1
68634040282. 2
68634040283. 3
68634040284. 4

Question Number : 71 Question Id : 68634010194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o o1 e A fo off s St it & 21 57 &t 9 afémt mard & 21 fAdeR &1 1aT 8 Fean s -
1. 9i1d Fehifd
 YRG Tebifd
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Options :
68634040281. 1
68634040282. 2

68634040283. 3
68634040284. 4

| )

L

Question Number : 72 Question Id : 68634010195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Shifting cultivation 1s also known as:

1. Diara cultivation

| )

. JThum cultivation
3. Paira
4, Utera
Options :
68634040285. 1
68634040286. 2

68634040287. 3
68634040288. 4

Question Number : 72 Question Id : 68634010195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R adt s am ag i g -
1. ST Wit
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s

Options :
68634040285. 1
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L]



68634040286. 2
68634040287. 3
68634040288. 4

Question Number : 73 Question Id : 68634010196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Toxic substance found in Sorghum i1s:
1. Erucic acid
2. BOAA
3.HCN
4. Saponin
Options :
68634040289. 1
68634040290. 2

68634040291. 3
68634040292. 4

Question Number : 73 Question Id : 68634010196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fater uerd Sl fob wivva & gl ofrdl 6
SERD S

.BOAA

fa—y

[ ]

3.HCN
4. 901

Options :

68634040289. 1
68634040290. 2
68634040291. 3
68634040292. 4

Question Number : 74 Question Id : 68634010197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the methods of Integrated Pest Management.

A. Modern and old.

B. Biological and Mechanical

C. Genetic and Chemical

D. Cultural

E. Civil law based and Behavioural

Choose the correct answer from the options given below:
1. A.B. C only
2.B.C.Donly
3.A.C.Donly

4.D.C.B.E only

Options :

68634040293. 1
68634040294. 2
68634040295. 3
68634040296. 4

Question Number : 74 Question Id : 68634010197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JTwTed Fie weeE (pMy H 5 vonferat afiifia @
A. 3TEHE quT GRIT
B. Wlfd® quI gifds
C. 31 Y1 g

D.
E. AR fafe snend qur saagids

i< fou e fasedi O 9 9ol 3Tk &1 99 Bifoy ;
1.9dd A, B.C
2. Hdd B, C,D
3. HA0A.C.D
4.9dd D, C.B.E

Options :

68634040293. 1
68634040294. 2
68634040295. 3
68634040296. 4



Question Number : 75 Question Id : 68634010198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A single gene having multiple effect 1s called:

1. Pleiotropy

(B

. Polyploidy

L¥ 5]

. Aneuploidy

e

. Euploidy

Options :

68634040297. 1
68634040298. 2
68634040299. 3
68634040300. 4

Question Number : 75 Question Id : 68634010198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g U d Si- & &5 UHIG 8 df Heardl &
. gguuIiad
S
. ST
4. foTaT
Options :
68634040297. 1
68634040298. 2

68634040299. 3
68634040300. 4
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Question Number : 76 Question Id : 68634010199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a passive factor of soil formation?

1. Parent material

| B

. Biosphere
3. Time

4, Relief

Options :

68634040301. 1
68634040302. 2
68634040303. 3
68634040304. 4

Question Number : 76 Question Id : 68634010199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafead o 9 S H-91 ga1 Foi ¥ te HiShy $RS A6 §
1. 5% gard
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Y-St

Options :

68634040301. 1
68634040302. 2
68634040303. 3
68634040304. 4

| )

=

Question Number : 77 Question Id : 68634010200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Liquid assets or current assets is:

1. Tractor

b2

. Cash on hand
3. Farm Building

4. Land

Options :
68634040305. 1



68634040306. 2
68634040307. 3
68634040308. 4

Question Number : 77 Question Id : 68634010200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Rd Udie uREyfa a1 =g (uie) uREah 6
1. TFR

-~

EEREIRERIE
o fafegT

oy

Options :

68634040305. 1
68634040306. 2
68634040307. 3
68634040308. 4

[

L]

Question Number : 78 Question Id : 68634010201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consumers are:

1. An individual or household that purchases goods or services.
2. Consumers are buyers of goods only.
3. Consumers and Producers have same character.
4. Consumers are farms producing products.

Options :

68634040309. 1

68634040310. 2

68634040311. 3
68634040312. 4

Question Number : 78 Question Id : 68634010201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040309. 1
68634040310. 2
68634040311. 3
68634040312. 4

Question Number : 79 Question Id : 68634010202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The study of economic growth, inflation. boom,. recession. depression, unemployment. business fluctuations
18:

1. Micro economics
2. Positive economics
3. Normative economics

4. Macro economics

Options :

68634040313. 1
68634040314. 2
68634040315. 3
68634040316. 4

Question Number : 79 Question Id : 68634010202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTfties o & sieqa § FEs,. 99, UiiuR (REEF), 7] (FE0eM), SRISNTRI, s9a9Iiie® SdR-9¢1d &
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Options :

68634040313. 1
68634040314. 2
68634040315. 3
68634040316. 4

Question Number : 80 Question Id : 68634010203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

GATT stands for:

1. General Agreement for Trade and Tax

[ )

. Global Agreement for Tariff and Trade

Lad

. General Agreement for Tariff and Trade
4. Global Agreement for Trade and Tax

Options :

68634040317. 1
68634040318. 2
68634040319. 3
68634040320. 4

Question Number : 80 Question Id : 68634010203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GATT®T U U g :

1. S Rd GlH=< BR ¢8 T ¢ay
2. THied B BR NG 18 ¢S
3. OFRd T BRERB T ¢ s
4. Tgd U< BR ¢S TS ¢l

Options :

68634040317. 1
68634040318. 2
68634040319. 3
68634040320. 4

Question Number : 81 Question Id : 68634010204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LISTII
A |[Equilibrium Price 1. |Quantity demanded varies inversely with pricef
B. PMonopoly II. |5ingle seller
C. |Free Trade Agreement and GATT| IT1. |A point from which nothing change
D. [Law of Demand IV |To eliminate trade barriers

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV

|

AL B-1L C-IV. D-IT
3. A-L. B-II. C-III. D-IV
4, A-IV. B-III. C-II. D-I

Options :

68634040321. 1
68634040322. 2
68634040323. 3
68634040324. 4

Question Number : 81 Question Id : 68634010204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i 1 1 g= 11 9 fHaH Sifen
AT T I
A [oqad ged L [Amn A, g 3 fawid ©9 Y 13F gid] o
B. [0@NUFR 11 [Uchd fdehdl
C. [Hod SR YHSA1 341 GATT] 111 [T T oigl § 38 gl ggadl
D. [ &1 FHag IV. [GTOR SRIYT Bl g
fafafad faedl & 9 98t SR &1 99 S

1. A-I, B-II. C-III. D-IV

| ]

AL B-1L C-IV. D-II
3. A-L. B-I1, C-III. D-IV
4. A-IV. B-IIL C-II. D-I

Options :

68634040321. 1
68634040322. 2
68634040323. 3
68634040324. 4



Question Number : 82 Question Id : 68634010205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The agronomic measure of soil and water conservation is:

1. Contour bonding

[ )

. Sub-Sailing

L]

. Contour farming
4. Bench terracing

Options :

68634040325. 1
68634040326. 2
68634040327. 3
68634040328. 4

Question Number : 82 Question Id : 68634010205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 TUT 5 TR&UT 1 PV HIIS §

1. GH=RET (o) FifsT

| ]

 3U-HgPhU

 gH=REd P
4. S R

Options :

68634040325. 1

68634040326. 2

68634040327. 3
68634040328. 4

L]

Question Number : 83 Question Id : 68634010206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statement:

1. Abiotic 1s living component of an ecosystem.

| B

. Abiotic disease 1s a plant disease caused by a living factors
3. Biodiesel 1s a renewable substitute for petroleum based diesel
4. Alleolopathy is positive effect of one plant on another due to production of a natural inhibitor.

Options :

68634040329. 1
68634040330. 2
68634040331. 3
68634040332. 4

Question Number : 83 Question Id : 68634010206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE1 B P g
1. U% UIRGH & wiifdd gcd uifad o
2. S I U UTEY I & Sl Siifdd BRe! gRI b o §
3. STIETsTel U il d i @ i s Sod o1
4. TGN U IS P IR TR W SRR % Saiee SRR aTe ST T §

Options :

68634040329. 1
68634040330. 2
68634040331. 3
68634040332. 4

Question Number : 84 Question Id : 68634010207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Identify the incorrect statement:

1. Alfalfa is a legume which 1s one of the oldest cultivated forage crops for livestock feed

[

. In C5 plants the first molecule formed has three carbons
3. A measurement of energy content of a food or plant material is calorie
4. Soil erosion is erosion caused by living organisms

Options :
68634040333. 1



68634040334. 2
68634040335. 3
68634040336. 4

Question Number : 84 Question Id : 68634010207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ted HYH Bl UL
1. UEhTeh] U WallgR Urel 8 il fdh URe= 9R & [T GTITE o arell Sad ORI IR1 B9d §
2. C; UTGYl ¥ HEd Ugd @44 ardd U] 1 ol e 8id ©
3. o a1 T urd | Soll A1 &1 A0S SaRl §
4. &1 3uReA SHifad R g G S arer SiRe §

Options :

68634040333. 1
68634040334. 2
68634040335. 3
68634040336. 4

Question Number : 85 Question Id : 68634010208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statement about production and production function:
K= Capital L = Labour
A =Land M = Management
1. Production is operational process and production function y=f(A. K. L. T)
2. Production 1s continuous process and production function y=f{K. L A)
3. Production is batch process and production function y=f(A.L)

4. Production is the process of combining searce resources into outputs and production function y=f{K., L.
A.M)

Options :

68634040337. 1
68634040338. 2
68634040339. 3
68634040340. 4

Question Number : 85 Question Id : 68634010208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IAGA dYT 31 Ba- & [0 T8l HUT § -
K=ol L=41

A=Y M =Ygy

1. Id1EA Aihurars Hithal g dul e e y=HA. K. L. T)

2. 3G U Idd il § adT I B y=AK. L A)
3. 3e a9 H g arcll WiehdT § aUT 3de B y=fA.L)

4. IS gAY Tl BT AT B 7 (31Seqe) TR 3T UihaT § 9UT SdTe Ba y=fK. L. A.
M)

Options :

68634040337. 1
68634040338. 2
68634040339. 3
68634040340. 4

Question Number : 86 Question Id : 68634010209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Crop Productivity Index (CPI) is a system for categorizing soils based on their capacity for crop
production.

Statement II: Crop Equivalency Rating (CER) 15 a system for categorizing soils based on profitability of soils
for crop production.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

-2

. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement II is incorrect

4, Statement [ is incorrect but Statement II 1s correct

Options :

68634040341. 1
68634040342. 2
68634040343. 3
68634040344. 4

Question Number : 86 Question Id : 68634010209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040341. 1
68634040342. 2
68634040343. 3
68634040344. 4

(3=

Question Number : 87 Question Id : 68634010210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The disease caused by deficiency of Molybdenum 1is:

1. Khaira disease of rice
2. White Bud of maize
3. Rosette of apple
4. Whiptail of cauliflower

Options :

68634040345. 1

68634040346. 2

68634040347. 3
68634040348. 4

Question Number : 87 Question Id : 68634010210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040345. 1
68634040346. 2
68634040347. 3
68634040348. 4

Question Number : 88 Question Id : 68634010211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the types of multilateral agreements in chronological order.

A. GATT (General Agreement on Tariff and Trade)
B. AOA (Agreement on Agriculture)

C. WTO (World Trade Organisation

D. Blue Box in Agreement on Agriculture

E. Red Box in Agreement on Agriculture

Choose the correct answer from the options given below:

1LLAB.EE I

| )

B E DB A
3JACBDE
4. C.D.AE.B

Options :

68634040349. 1
68634040350. 2
68634040351. 3
68634040352 4

Question Number : 88 Question Id : 68634010211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ggualia il & UhR &I BIabHTHR saieyd By

A, GATT
B. AOA
C. WTO

D. & (-IIan) died
E. IS (49 dig9
i fSu U [dwedl § U 9ol 3R &1 994 ST :
1.A.B.C.E.D
2.B.C.D.E.A
3.A,C.B,D,E
4.C.D.A.E.B

Options :

68634040349. 1
68634040350. 2
68634040351. 3
68634040352. 4

Question Number : 89 Question Id : 68634010212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Sugars are synthesised during photosynthesis from carbon dioxide and water in the presence of
sunlight.

Statement IT: Respiration in plants results in the formation of monosaccharides.
In the light of the above statements. choose the eorrect answer from the options given below

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true

Options :

68634040353. 1
68634040354. 2
68634040355. 3
68634040356. 4



Question Number : 89 Question Id : 68634010212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EICEACAICACRI
BYH I UDT HRATT & SR Wb BT HLAT0 PIe SSRGS 3R IHI 8 TBT Dl Suieufar o
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Options :

68634040353. 1
68634040354. 2
68634040355. 3
68634040356. 4

Question Number : 90 Question Id : 68634010213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The root stock of apple used for dwarfing 1s:

1. M12

[ )

. MO
3. MM109
4. MM106

Options :

68634040357. 1
68634040358. 2
68634040359. 3
68634040360. 4

Question Number : 90 Question Id : 68634010213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YT BT 9IS I [BaP SHIHR0 3 o8 Fgad oIl 87

1. M12
2. Mo
3. MM109
4. MM106

Options :

68634040357. 1

68634040358. 2

68634040359. 3
68634040360. 4

Question Number : 91 Question Id : 68634010214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the male reproductive part of a corn plant

1. Tassel

2

. Tars
3. Tall feseue
4, Tilth
Options :
68634040361. 1
68634040362. 2

68634040363. 3
68634040364. 4

Question Number : 91 Question Id : 68634010214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ha®1 U169 & R A1 U &1 91 gl
1. o9d
&3]
.aﬁgﬁiﬁ}w
4. ey

Options :
68634040361. 1

| )

L]



68634040362. 2
68634040363. 3
68634040364. 4

Question Number : 92 Question Id : 68634010215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The nation with the lowest cost of production has:
1. A comparative advantage
2. Unfair advantage
3. Absolute advantage

4. A competitive advantage

Options :

68634040365. 1
68634040366. 2
68634040367. 3
68634040368. 4

Question Number : 92 Question Id : 68634010215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1y o Idre &1 Fead arrd 8. & I gl

1. eI T
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ey
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Options :

68634040365. 1
68634040366. 2
68634040367. 3
68634040368. 4

| )
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Question Number : 93 Question Id : 68634010216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the incorrect statement:

1. Disaccharides include sucrose. maltose and lactose having molecular formula C;;H,,0,

[

. Sucrose 1s the most important disaccharide having 50% glucose and 50% fructose. It is also known as
sugar.

3. Carbohydrates are compounds of Carbon, Oxygen, Nitrogen. Hydorgen, Sulphur and Sodium
4. Water is a compound having hydrogen and oxygen

Options :

68634040369. 1

68634040370. 2

68634040371. 3
68634040372. 4

Question Number : 93 Question Id : 68634010216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Teid Y Bl I8Ny :
1. SEAPES T gbiol, Aleeis aul daeiy [Tl S0 C,H,,0,, Jfid o

2, §q?|u1 Y T SIgUTRISS [ ¥H 50% T Y aUl 50% Wi ¢ g8 JFR & 418 I U |l Sl

3. PEEESC, DIE-. AT, Ao, S g, Yo aul Tfsoa Y aifi® ©

4. 9 i qur grggieH 4 s e §

Options :

68634040369. 1
68634040370. 2
68634040371. 3
68634040372. 4

Question Number : 94 Question Id : 68634010217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The relationship among Mean, Mode, Median 1s:

1. Mode = 4 Median - 2 Mean

| )

. 3 Mode = 2 Median - 3 Mean

Lad

. Mode = Median - 4 Mean

4. Mode = 3 Median - 2 Mean



Options :

68634040373. 1
68634040374. 2
68634040375. 3
68634040376. 4

Question Number : 94 Question Id : 68634010217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, A% AR H1F & T $I FE Y uidarg -

1. dgdf =4 HID - 2 HIEY

| )

3 dgeld =2 HIH$ - 3 HIH

[#5]

. g0 = IS - 4 0

=

. dgd =3 HIED - 2 HIEY

Options :

68634040373. 1
68634040374. 2
68634040375. 3
68634040376. 4

Question Number : 95 Question Id : 68634010218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The determinants of supply are:

1. Price of the goods, income, tastes and preferences
2. Prices of related goods, technology. the number of sellers
3. Amount of goods available, given time, given place
4. Consumer income, income spent on food

Options :

68634040377. 1

68634040378. 2

68634040379. 3
68634040380. 4

Question Number : 95 Question Id : 68634010218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040377. 1
68634040378. 2
68634040379. 3
68634040380. 4

Question Number : 96 Question Id : 68634010219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion (A): Product life cycle has four stages: Introduction, Growth, Maturity. Decline.
Reason (R): Similary project cycle has stages Introduction. Commissioning, Growth,
Implementation/Execution

In the light of the above statements. choose the correct answer from the options given below:

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
3. (A) 1s true but (R) 1s false
4, (A) 1s false but (R) 1s true

Options :

68634040381. 1

68634040382. 2

68634040383. 3
68634040384. 4

Question Number : 96 Question Id : 68634010219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040381. 1
68634040382. 2
68634040383. 3
68634040384. 4

Question Number : 97 Question Id : 68634010220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the steps of farming in order:
A. Tillage is critical step in land preparation before crop planting.
B. Sprinkler irrigation system applies pressurized water through sprinkler.
C. A part of land used for agriculture and raising of crops in farm.

D. Tractor 1s used in farm for efficient production and to save time.
E. Precise application of seeds and fertilizers are done through seed cum fertilizer drill.

Choose the correct answer from the options given below:

1LLAB.CBE

b2

B, C,D,AE
3 D.C.B.AE
4 C.A.D.B.E

Options :

68634040385. 1
68634040386. 2
68634040387. 3
68634040388. 4

Question Number : 97 Question Id : 68634010220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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1ABCDE

[ ]

B,C.DAE
3.D.C.B.A.E
4 C.A.D.B.E

Options :

68634040385. 1
68634040386. 2
68634040387. 3
68634040388. 4

Question Number : 98 Question Id : 68634010221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Mitosis is the division of a cell into two cells which are identical to the initial one. Mitosis is a
process required for growth and development.

Statement ITI: is another type of cell division that reduces the genetic content by half and 15 associated with
sexual reproduction and occurs in the female reproductive organs only.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement I 1s false
4. Statement I 15 false but Statement 11 is true

Options :

68634040389. 1

68634040390. 2

68634040391. 3
68634040392. 4



Question Number : 98 Question Id : 68634010221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634040389. 1
68634040390. 2
68634040391. 3
68634040392. 4
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Question Number : 99 Question Id : 68634010222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the true statements about industrialization of agriculture.

A. Modern farms

B. Minimization of production cost
C. Availability of raw material

D. Availability of Irrigation facilities
E. Taxonomy

Choose the correct answer from the options given below:
1.A.B.D.C.E only
2.B.C.D.E only
3.A B.C.D only

4. A . B.C.E only

Options :

68634040393. 1
68634040394. 2
68634040395. 3



68634040396. 4

Question Number : 99 Question Id : 68634010222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. $dd B, C, D, E
3. Hdd A, B.C.D
4. PdAd A, B.C.E

Options :

68634040393. 1
68634040394. 2
68634040395. 3
68634040396. 4

Question Number : 100 Question Id : 68634010223 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Break even point I. |Superior productive capacity
B. |Absolute advantage II. [Consumer willingness and ability to pay good
C. |Comparative advantage| IT1. |Total revenue = Total cost
D. |Demand IV, [Lower cost of production

Choose the correct answer from the options given below:

1. A-I. B-III. C-II. D-IV

| )

AL B-IV, C-L. D-II
3. AL B-II. C-I1, D-IV
4. A-IV. B-III. C-II. D-I

Options :



68634040397. 1
68634040398. 2
68634040399. 3
68634040400. 4

Question Number : 100 Question Id : 68634010223 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A-I. B-III. C-II. D-IV
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2. AL B-IV. C-1. D-II
3. A-L. B-II. C-II, D-IV
4. A-IV. B-IIL C-II. D-I

Options :

68634040397. 1
68634040398. 2
68634040399. 3
68634040400. 4



